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The OSEEN problem .in vatiationa] formalshion:
Find ueV and peQ:

- n

MU:‘})

A4

For given W, set a(uv)=alwiuv).

Then (23) Exac(/j has the form CZ/I)/ |
‘Where {he bilinear form a(:)-) is here non-sqwmst !
The STOKES peoblews:

For small Reynolds numbers (viscous flow),

'“'e» (th-s cmné'l'ro’C) ConVeC'{lbnﬂ.fe,M caen 66

neg lected. Tha.s, we obtain Yhe VF :

Fi’fmd ueV and pe Q:

| b(“«%) =0

a(“\!’) + k(WP) = {F, v> ¥ve V

with the sy wumetric bilin ear foim
au,v):= -'%-é— QZVTM Vv dx.

Jn the Lect. “CM ' , the exidence and undgueness
of the Solution (up) € VXQ will be shown  e.
the pressure p is unrque Onlj up to on additive coustmt,
and the FE discred iration will be discassed .
WeV,QcV A mixed FEM
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